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% i 6-10 75-9.1 8.4 FL
FOEE (mgh) 100 <20 - 30.5 212 FL
wEfL P B (mg/l) 10 <1 <1 L
TR E (mg/l) 2000 370 - 998 649 £L
PR E (mgll) 10 <0.5 <0.5 hL
PR ED (mgl) 0.1 <0.040 - 0.049 0.042 KL
HR7 il B AR (maf) 100 <15-24.1 16.5 FL
% (mef) 20 <10-13 10.9 FL
A e (me/) 0.5 <03 <03 FL
REFEGEE (mg/l) 1 <0.6 <0.6 FL
F PO R (mgl) 15 <3-38 3.2 FL
[~ % B (mel) 2500 <100 - 960 348 FL
T ESTLEL (me/) 200 30-73.9 4.5 FL
LGS 43 30 - 35 32.5 FL
BT P P BRSBTS XL
BE L 2

filt - (mg/l) 2 <04 <04 Fl
Z (mg/l) 5 <l <1 P
#t (mg/) 0.1 <0.1 <0.1 Fol
éﬁ (mg/l) 1 <0.3 <0.3 L
4 (mg/) 2 <0.5-0.66 0.52 j O
\?ﬁ (mg/l) 2 <1 <1 Fol
& (mg/l) 5 <0.2 <0.2 L
F (me/) 0.05 <0.05 <0.05 FL
& (mg/l) 2 <1 <1 ql
&L (mg/) 2 <0.4 <04 Bl
g (mg/) 5 <1 <1 L.
. (mg/) 2 <1-12 1.1 £l
T & B E # (mef) 10 <7.0-72 7.1 Fl
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W (mg/) 5 <1 <1 Kl
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Aldrin (mg/l) 0.01 <0.01 <0.01 &L

BHCS (mg/l) 0.01 <0.01 <0.01 &L

EH L (mg/l) 0.01 <0.01 <0.01 P

FHRREREM AP

HFL (mgfl) 0.1 <0.06 <0.06 £l

WRERECAP

1,1,1-= § ¢ %€E (mefl) 0.05 <0.025 <0.025 L
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% 7 5 2 AUE (mgll) 0.003 <0.003 <0.003 P
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5 (mg/m’) 30 00 - 14 0.1 L
TE T (mg/m)) 200 0.1 - 196.4 8.5 L
BT (mg/m’) 60 02 - 223 2.2 KL
i [~ & (mg/m’) 4 0.0 - 0.1 0.0 RL
P i
(I} Z & (" 257 ) 400 409 - 2169 96.3 FL
(mg/m’)
AE) S HR (mg/m”) 20 0.0 - 5.0 0.1 JL
~ F ("W (mg/m’) 100 0.0 - 47.5 43 FL
(¢  puEm @
e (mg/m’) 10 0.0 - 0.1 0.1 FL
T &R (mg/m’) 50 2.0 - 18.0 8.5 FL
ESTE  (mg/m’) 10 0.9 - 3.9 2.1 KL
fi [ & (mg/m’) ] 0.00 - 0.01 0.01 FL
P ]
(M= & 2 F ) 200 78.6 - 118.0 96.9 HL
(mg/m’)
FE B (mg/m’) 10 0.00 - 0.21 0.10 L
~ H [ (mg/m’) 50 1.8 - 10.2 43 FL
(rp  HE
BREOP
(I & 5 2R ED 24 <37 <37 Rl
(mg/m’)
(R R
AR TR ﬁ s A 18.8 <0.8 <0.8 fL
(mg/m’)
Eij;ng()” ﬁ PR st ) 37.5 <15 <15 Fol
B lﬁgz(r @%g,r) (mg/m’) 5.5 <0.220 <0.220 FL
B [T & (mg/m’) 5 .1 .1 ;L
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Bl (me/m’) 0.05 <0.011 <0.011 Bl
HEER O IR
ﬁﬁl (mg/m’) 0.06 <0.002 <0.002 FL
HEER (G- Dk [
Bl (ma/m’) 0.5 <0.131 <0.131 Bl
% (mg/m’) 0.05 <0.003 <0.003 FL
Z PR (ng/m) 0.075 0.0050 0.0050 FL
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& (ppm) 0.5 <0.5 <0.5 L
%< (ppm) 0.1 <0.02 - 0.07 0.02 L
Sl E (ppm) 10 <0.5-0.9 0.5 FL
i (ppm) - <0.5-39 0.9

& (ppm) - <0.5 <0.5

yﬁ (ppm) - <1-63 1.3

& (ppm) - <0.5-0.7 0.5
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S4B (ppm) 25 <2.5-11.0 3.2 JL
& (ppm) 20 <1 <1 ol
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Z Bl £ (ppm) 10 <2-8.8 2.2 L
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